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IPROBLEM 4 (20 points):

XYZ Corp. sponsors a defined-benefit pension plan for its employees. On January 1, 2015, the following
balances related to this plan:

Plan assets (fair value) $900,000
Defined benefit obligation 1,200,000

As a result of the operation of the plan during 2015, the actuary provided the following additional data at
December 31, 2015:

Service cost for 2015 $150,000
Actual return on plan assets in 2015 90,000
Past service cost, effective Jan. 1 240,000
Contributions in 2015 230,000
Benefits paid retirees in 2015 140,000
Discount rate 6%

Average remaining service life of active employees 10 years
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Required: - A

(a) Compute pension expense for XYZ Corp. for the year 2015.
(b) Prepare the journal entry to record pension expense and related remeasurement gain or loss.

(c) According to the requirements of JAS 19 (2013), what interest rate should be used as the discount rate in the
accounting for a defined-benefit pension plan? '

PROBLEM 5 (20 points):

On January 1, 2014, ABC Company issued a convertible bond with a par value of $1,000,000 in the market for
$1,200,000. The bonds are convertible into 12,000 ordinary shares of $10 per share par value. The bond has a
5-year life and has a stated interest rate of 10% payable annually. The market interest rate for a similar
non-convertible bond at January 1, 2014, is 8%. The discounted present-value of the liability component of the
bond is computed to be 1,079,854, based on the market interest rate of 8%. The fair value of the conversion
feature is $160,000.

Required:

(a) Assume that the bonds were converted on January 1, 2017. The fair value of the convertible bond is
$1,210,000 on January 1, 2017. The fair value of the liability component of the bond is determined to be
$1,080,000 and the fair value of the conversion feature is $150,000 on January 1, 2017. Prepare the journal
entry to record the conversion on January 1, 2017. Assume that the accrual of interest related to 2016 has
been recorded and paid.

(b) Assume that the convertible bonds were repurchased on January 1, 2017, for $1,210,000 instead of being
converted. As indicated, the fair value of the liability component of the bond is determined to be $1,080,000
and the fair value of the conversion feature is $150,000 on January 1, 2017. Assume that the accrual of
interest related to 2016 has been recorded and paid. Prepare the journal entry to record the repurchase on
January 1, 2017.

[PROBLEM 6 (10 points):

Top Company purchased equipment for $1,800,000 on January 1, 2014, its first day of operations. For book
purposes, the equipment will be depreciated using the straight-line method over three years with no salvage
value. However, for tax purposes, the equipment is depreciated using sum-of-the-years’-digit method with no
salvage value. Pretax financial income is as follows:

2014 2015 2016
Pretax financial income $2,240,000  $2,600,000  $3,000,000

The only temporary difference between pretax financial income and taxable income is due to the use of
accelerated depreciation for tax purposes.
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Required: - J

Prepare the journal entries to record income taxes for 2015 and 2016 assuming that the enacted tax rate as of
2014 is 30% but that in the middle of 2015, the tax authority raises the income tax rate to 35% retroactive to the
beginning of 2015.
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